Ersatzteilliste Lista parti di ricambio
Spare parts list Onderdelenlijst
Liste des pieces de rechange Lista de repuestos

6720884281
(2018/02) Ri

WPS 390-1 EP 1 | WPS 490-1 EP 1

8738894695.aa.RO

BOSCH

15.02.2018 1 6720884281




15.02.2018 2
6720884281



[de] Wichtige Hinweise zur Installation/Montage

Die Installation/Montage muss durch eine fiir die Arbeiten zuge-
lassene Fachkraft unter Beachtung der geltenden Vorschriften
erfolgen.

[en] Important notes on installation/assembly

The installation/assembly must be carried out by a professional
who is authorised to do the work, and with due regard to the
relevant regulations.

[fr] Instructions importantes pour I’installation/le montage

Linstallation/le montage doit étre effectué(e) par un spécialiste
qualifié pour les opérations concernées et dans le respect des
prescriptions applicables.

[bg] BaxxHu yka3aHua BbB Bpb3Ka € MHCTanaumATa/MoHTaxa
WMHcranauvsATa/MoHTaxbT TPAGBa fa Ce n3BbpLBa OT NULEH3NPaH
3a paboTuTe cneunanucT B CbOTBETCTBUE C NPUIOKUMUTE
pasnopeaom.

[cs] DileZité pokyny k instalaci/montazi

Instalaci/montaz musi pfi dodrzenf platnych pfedpist provést
odborny pracovn(k s p¥islusnym opravnénim pro tyto préce.

[da] Vigtige anvisninger til installationen/monteringen
Installationen/monteringen skal foretages af en godkendt installa-
tor under overholdelse af de geeldende forskrifter.

[el] Znpavrikég umobeifelg yia Ty eykatactacn/cuvapHoAéynon
H gykatdotaon/ouvappoAdynon mpémnel va mpaypatonoleital and
e€oua1080TNEEVO YIa TIC EPYACIEC AUTEG TEXVIKO TPOCWITIKG, TO
onoio Oa nipémnel va ppovTi(el WOTE va tnpouvTal ol IGXUOUCES
Satageic.

[es] Indicaciones importantes para instalacién/montaje
La instalacion/el montaje lo debe realizar personal especializado
autorizado para los trabajos, respetando las prescripciones vigen-
tes.

[et] Olulised juhised paigaldamiseks/montaaZiks
Paigaldamist/montaaZi tohib I&bi viia selleks volitusi omav
spetsialist, arvestades kehtivaid ndudeid.

[fl] Belangrijke aanwijzingen betreffende de installatie/montage

Deinstallatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur. Hij moet rekening
houden met de geldende voorschriften.

[fi] Tarkeitd asennus- ja kokoonpano-ohjeita

Naihin t6ihin hyvaksytyn ammattiasentajan pitaa suorittaa asen-
nus- ja kokoonpanoty6t voimassa olevien maardysten mukaisesti.
[hu] Fontos tudnivalék az installildshoz/szereléshez

Az installdlast/szerelést egy, a munkakra felhatalmazott
szakembernek kell végeznie, az érvényes el6irdsok
figyelembevételével.

[it] Avvertenze importanti per l'installazione/il montaggio

L'installazione/il montaggio deve aver luogo ad opera di una ditta
specializzata ed autorizzata in osservanza delle disposizioni
vigenti.

[he] 860336g¢rmgs6o Booomgdgdo 0Blgsmszo0bomgol/Bmbasgolismgols

0BLB@305/8mbBHog0 MBs g3BbmM3ogEEgl bsdmBsmgdobmgols sazgdmaro

335@0x0307M0 396HLmbswol 8og, 8mgdgoo gsbsfigbol ©s3g00.

[it] Svarbios instaliavimo ir (arba) montavimo nuorodos

Instaliucti ir montuoti, laikantis galiojan¢iy taisykliy, leidZiama
kvalifikuotiems specialistams, kurie buvo jgalioti Siems darbams
atlikti.

15.02.2018

[Ivl Svarigi noradijumi par iekartas uzstadiSanu / montazu
lekartas uzstadisanu/montazu ir javeic specializétam sertifictam
specialistam, ievérojot spéka esoSos noteikumus.

[nl] Belangrijke aanwijzingen betreffende de installatie/montage

Deinstallatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur rekening houdend
met de geldende voorschriften.

[no] Viktig informasjon om installasjon/montering
Installasjonen/monteringen skal giennomfgres av autoriserte
installaterer, og gjeldende forskrifter skal felges.

[pl] Wazne wskazéwki dotyczace instalacji/montazu
Instalacja/montaz musza by¢ wykonane przez uprawnionego

do tego rodzaju prac specjaliste przy zachowaniu obowigzujacych
przepisow.

[pt] Indicagées importantes relativas a instalagio/montagem

A instalagao/montagem deve ser efetuada por um técnico espe-
cializado com qualificagGes para estes trabalhos, tendo em aten-
¢ao os regulamentos em vigor.

[rol Indicatii importante privind instalarea/montajul
Instalarea/montajul trebuie realizate de catre un specialist autorizat
pentru lucrarile respective, respectandu-se prescriptiile valabile.
[ru] BaxHble yKazaHVs Mo NOAKMIOUEHUIO/MOHTaXY

MoaxnioueHne/MoHTaXK JOSKHbI BLINOMHATL CMELMaNNCTbI,
MMeloLre AOMYCK K BbINOMIHEHWIO TaKuUX paboT, npy cobnioaeHnn
AEACTBYIOLUX HOPM U NPaBui.

[sk] Délezité pokyny tykajtice sa inStalacie/montaze
Instalaciu/montaz musi realizovat odbornik s opravnenim na

vykon tychto prac, pricom musf dodrZovat platné predpisy.

[sl] Pomembni napotki za namestitev/montazo
Namestitev/montazo mora izvesti strokovnjak, pristojen za

tovrstna dela, ob uposte vanju veljavnih predpisov.

[sr] Vazna uputstva za ugradnju i montazu

Ugradnju i montazu moraju da obave samo stru¢na lica ovlas¢ena

za izvodenje takvih radova koja ¢e postovati vazece propise.

[sv] Viktiga anvisningar for installation/montering
Installationen/monteringen maste utféras av en behérig och fack-
kunnig person enligt gdllande féreskrifter.

[tr] Kurulum/Monta] ile Iigili 8nemli uyarilar
Kurulum/Montaj ¢aligmalari sadece yetkili bayiler tarafindan
asagida belirtilen talimatlar dikkate alinarak yapilmalidir.
[uk] Baxnugi BKasiBKM WOAO YCTAHOBKW/MOHTaXY
YcTaHOBKY/MOHTaX MaloTb 3AilicHIoBaTu daxiBLyj, Lo MaloTb A03BIN

Ha NpoBeAeHHA LUX pobiT, i3 AOTPYMaHHA YNHHMX MPUNNCIB.

[zh] REFEHEERT

WA BV R IR I AR (& ML A R DRI REAT 2 5.

areailifqus Al Lala cliadia [ar]

Al g g0 sled ye pa cJaally Al = gias gavadie i e preatllfoaS 5l o5 o oy

T L P FRUPVIRLAR R - ||

QS A 55y (ot 5 el IS (o ol 4 Jlona 4S (81 4y (53 Jaws 5 2y 515 pafiici

gl pladl dda g e il sia 4y

6720884281



Ersatzteilliste
Spare parts list

Liste des pieces de rechange

Lista parti di ricambio

Onderdelenlijst
Lista de repuestos

%
15 X

@/8

13 12

8738894696.aa.RO

WPS 390-1 EP 1/ WPS 490-1 EP 1
WPS 390-1 EP 1/WPS 490-1 EP 1
WPS 390-1 EP 1/WPS 490-1 EP 1
WPS 390-1 EP 1/WPS 490-1 EP 1
WPS 390-1 EP 1/ WPS 490-1 EP 1
WPS 390-1 EP 1/WPS 490-1 EP 1

WPS 390-1 EP 1 | WPS 490-1 EP 1

15.02.2018

6720884281




Pos |Bezeichnung Bestell-Nr. PG |, |o Bemerkungen
Description Ordering no. : : Remarks
Dénomination Numéro de commande E E Remarqugs .
Descrizioni N° d'ordine S lg Osserva;lonl
Benaming Bestelnummer o | < Opmerkingen
Descripcion Numero el ordenar g g Observaciones

1 |Abdeckung D783 Deckel schwarz 8735100269 |43 m|®m
2 |Folienmantel Silber 390 7 735501 899 u
2 |Folienmantel Silber 490 7 735501 900 u
3 |Thermometer 87172080500 (31 | m m
4 |Klemmfeder (1x) 87146060240 |20 W =
6 |Klemmfeder (1x) 87146060380 |35 W H
7 |Kettenanode 1 1/4" 87397222400 |47 | W N
8 |Isolierung D90x20 87123035160 (23 ' m | ®m
9 |Flansch DN180 87155033470 |35 ' m W
10 |Dichtung DN110 87101031580 |25 W &
11 |Abdeckung+lsolierung D197 schwarz 8735100030 |30 m | m
12 |Tauchhilse R1/2"x200 (1x) 87107021110 |35 W H
13 |Klemmfeder (1x) 87146060210 |25 m | ®
14 |Schraube M10x25 (10x) 29110602910 |18 |m |\ m
15 |Isolierung Handloch 500 schwarz 8735100273 |44 | m|®m
16 |Abdeckung E-Muffe 390-490 7 735501 901 LN
17 |Stopfen G1 1/2" mit PTFE-Ring PB2 8 735100 199 28|\ m
Schild Bosch Logo 87185403630 |18 | m | =m

WPS 390-1 EP 1 | WPS 490-1 EP 1

WPS 390-1 EP 1/WPS 490-1 EP 1
WPS 390-1 EP 1/WPS 490-1 EP 1
WPS 390-1 EP 1/WPS 490-1 EP 1
WPS 390-1 EP 1/WPS 490-1 EP 1
WPS 390-1 EP 1/WPS 490-1 EP 1
WPS 390-1 EP 1/WPS 490-1 EP 1

15.02.2018

6720884281




Ubersetzungsliste
List of translations

Liste des traductions
Traduzione delle descrizioni

Vertalinglijst
Lista de traducciones

Pos | Description Denomination Descrizione Benaming Descripcion
1 |Element of construction Groupe de construction Gruppo di construzione Montagegroep Grupo de construccion
1 |Cover Outer Case D783 black |Couvercle Couvercle D783 noir |Copertura Coperchio D783 nero |Afdekking Deksel D783 zwart |Recubrimiento Tapa D783 negro
2 |Cover Jacket Silver 390 packed |Habillage film argent 390 Pellicola di rivestimento argentato 390 | Foliemantel zilver 390 Plastico de proteccion plata 390
2 |Cover Jacket Silver 490 packed |Habillage film argent 490 pellicola di rivestimento argentato 490 | Foliemantel zilver 490 Plastico de proteccion plata 490
3 |Thermometer Thermom#tre Termometro Thermometer Termoémetro
4 |Clamp spring (1x) RESSORT POUR THERMOMETRE (1x) | Fermo (1x) KLEMVEER VITHERMOMETER ST/sO (1x) | Muelle fijacion (1x)
6 |Clamp spring (1x) Ressort (1x) Fermo (1x) Haarspeldveer (1x) Muelle de tecla (1x)
7 |Chain anode 1 1/4" ANODE MAGNESIUM 1 1/4", 290 - 450 | Anodi a catena 1 1/4" Opofferingsanode 1 1/4" Cadena de anodos 1 1/4
8 |Insulation D90x20 Isolation D90x20 Isolamento D90x20 Isolatie D90x20 Aislamiento D90x20
9 |Connecting flange DN180 Trappe de visite DN180 Flangia DN180 Aansluitflens DN180 Brida de conexién DN180

=
o

Gasket DN110

Joint DN110

Guarnizione DN110

Pakking DN110

Junta DN110

[Eny
[N

Hand hole cover + insulation D197 black

Couvercle + isolation D197 noir

Copertura + isolamento D197 nero

Afdekking + isolatie D197 zwart

Recubrimiento + aislamiento D197 negro

=
N

Sensor pocket R1/2"x200 (1x)

Douille R1/2"x200 (1x)

Boccola R1/2"x200 (1x)

Dompelhuls R1/2"x200 (1x)

Casquillo de la caldera R1/2"x200 (1x)

=
w

Clamp spring (1x)

Ressort (1x)

Fermo (1x)

KLEMVEER NTC SK120/140/160-4ZB (1x)

Muelle de tecla (1x)

=
~

Screw M10x25 (10x)

Vis M10x25 (10x)

Vite M10x25 (10x)

Schroef M10x25 (10x)

Tornillo M10x25 (10x)

=
4]

Insulation Access Hole 500 black

Isolation Trou de poing 500 noir

Coibentazione ispezione 500 nero

Isolatie Handgat 500 zwart

Aislamiento Punto de acceso manual 500

=
o

Insulation set e-heater 390-490 packed

Couvercle manchon chauff électric390-490

Copertura Riscaldam. manicotto 390-490

Afdekking Elektrisch verwarm. - 390-490

Recubrimiento - 390-490

[Eny
~

Plug G 1 1/2" with PTFE-Ring PB2 SP

Bouchon G1 1/2" PB2

Tappo G 1 1/2" con anello di PTFE PB2

Pluggen G 1 1/2" met PTFE-ring PB2

Tapdn G 1 1/2" con anillo de PTFE PB2

Label Bosch Logo packed

Bosch Logo

Bosch Logo

Bosch Logo

Bosch Logo

15.02.2018

6720884281




Geratetypen

Types of appliances

Types de chaudieres
Tipo apparecchi

Toesteltypes

Tipos de aplicaciones

Gerét Bestell-Nr. Land S-Nr. Bemerkungen
Appliance Ordering no. Country S-Nr. Remarks
Chaudiere Numéro de commande Pays S-Nr. Remarques
Apparecchio N° d'ordine Paese S-Nr. Osservazioni
Toestel Bestelnummer Land S-Nr. Opmerkingen
Aparato Numero el ordenar Paese S-Nr. Observaciones

WPS 390-1EP1C

8 732 921 683

Belgien,Deutschland,Luxemburg,Niederlande

WPS 490-1EP1C

8 732 921 685

Belgien,Deutschland,Luxemburg,Niederlande

15.02.2018

6720884281




Bosch Thermotechnik GmbH

B os c H Junkersstr. 20-24
D-73249 Wernau / Germany

15.02.2018 8 6720884281



